FINAL EXAM MATH 132 Spring 2010

Name:

NO CALCULATORS
ONE 4 x 6 NOTECARD ALLOWED

SHOW WORK & SIMPLIFY ANSWERS

[sinzdz = —cosz + C
[coszdz =sinz + C

[sec?zdx =tanz + C

Jtanzsecz dr = secx + C 1 /10
[esc?zdr = —cotz + C % /10
[cotzescrdr = —cscx + C 3 /10
fﬁdx:sin"l (&) +cC 4 /10
[ etz de=Ltan™! (2) + C 5 /10
fm\/—xi—-—_?d:czésec*l(f)—l—C 6 /10
[seczdr =In|secr + tanz| + C 7 /10
[sec® zdx = §(secxtanz + In|secz + tanz|) + C 8 /10
e =ltr+a?+2% 4. ’ 10
ex—il—kx—i—lx?—l—lx?’—#m o /10

P Total /100

Sinx:m—ﬁxs—f—gx —

cost =1—gz? + Hat — ...



1. Evaluate the following definite integrals:

(a) f0"/3 2z sin 2z dz

Ho ()3 @)1 (v)2 (@)oo



2. Evaluate the following definite integrals:

VT
(a) f14 VT dz

(i) 2% —2e  (ii) (e2 —e)/2  (iii) 2¢* — 2

/2 ¢
(b) J717, Lo5e ay



3. Find the volume of a pyramid whose height is h and whose base is a square with side
length s.




4. Find the general indefinite integrals.

(a) [V6z —22dx

2..._
(b) f y2'___% dy



5. Find [ —trrs dz.

23 —4224+52



6. Determine whether each of the following series is absolutel

convergent, or divergent.

(a) ZZO:Q n? %nn

(i) absolutely convergent

(b) S, G2

(i) absolutely convergent

—1)"
(¢) Sonto e

(i) absolutely convergent

(ii) conditionally convergent

(ii) conditionally convergent

(ii) conditionally convergent

y convergent, conditionally

(iil) divergent

(iii) divergent

(iii) divergent



7. Determine the interval of convergence of each power series.

(a) fo:z Eli(z = 3)"

) 2.4 ()24 (@) (L5 () (1,5 (v) (~o0,00)

O L3 @) [1,3) () (0,4)  (iv) (0,4  (v) (=00, 00)



8. Use Taylor’s formula to find the first five nonzero terms of the Taylor series for the
function f(z) = /= expanded about the point z = 1.



9. Express as infinite series.

(a) [ €L dz (include up to the z3 term)

(b) z cos®z (include up to the z° term)



10. Solve the differential equations.

(a) y' =%, y(1) = 0

(b) y' = 2% + 25 (give the general solution)

T



